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21. Chrono-capsule

Or a means of protection and preservation for the descendants of especially valuable biostructures

The chrono-capsule - a sarcophagus for moving through time and space without fuel consumption and
finances.

Everything is known about phantoms. These are all types of ghosts and goblins. Somehow, they
suddenly appear, walk around on their own (usually in castles), advertise various miracles and even have
the ability to talk.

In addition, there are mirages in which disappeared cities, ships appear and even scenes from
ancient life are played out. In some cases, these mirages become reality.

There are known cases of so-called “manifestations”, when an object or biostructure that
disappeared in its time suddenly appears in our time, and the age of the missing remains the same at
which the disappearance occurred.

Ships, planes and entire settlements disappear, and this even in our time. It is believed that
there are several centers on Earth in which disappearances occur. These are the Bermuda Triangle and
the China Sea. However, it should be noted that a disappearance can occur at any point on the globe.

Examples.
1. In 1914, a capsule with an Atlas and a message was found in the Atlantic Ocean.

2. In Altai, a girl picked up a stone and split it. There was a lizard in it, that was unknown to
science. The lizard ran away.

3. Recently, a passenger from the Titanic was found in the North Sea, her age remained the
same. She was lying on a glacier.

4. “Flying and floating" people were observed in large numbers, even in ancient Rome. They are
known in the Far East.

5. In a mine, out of 10 miners, 1 was lost for a shift, after the end of the shift he appeared in the
form of an ancient old man (with the missing miner's identity card).

He spoke in an incomprehensible language, his drawings were similar to drawings and
sculptures already known to science, from different places of the Earth.

6. 70 km northeast of Sochi, along the highway - there is a structure (dolmen) with a hole, as a
place where some kind of purification and receipt of fresh information occurs.

7. There are “flying Dutchmen” who disappeared hundreds of years ago.

8. In December 1995, a plane in route from Petropavlovsk-Kamchatsky to Khabarovsk
disappeared. It was unexpectedly found on a hill, which search teams have flown past hundreds of
times. However, only half of the plane was found. The tail section is gone.



Documents and clothes were intact, but there were no signs of human remains.

10. Sarcophagi with the mummies of pharaohs.

11. Funerals of people (coffin — chrono-capsule). Jews are the only ones that are supposed to be
buried.

The opinion of official science.

A chrono-capsule is a sarcophagus for time travel. It doesn't work after the opening. So, after
the inspection of the chrono-capsule by the government headed by Stalin, Stalin became ill, and the
author was shot. A reference to 44 DNA codons, the meaning of which has not yet been deciphered (64
codons in total, 20 amino acids are known). The issue is being studied (horse literacy, Boron atom,
periodic table, etc., are used — derivatives of the specified standards). There is no result yet, so the
church can rest easy. There are many theories, but they all have the same base (see the standards).

An armature’s scientific opinion.

Time within the Solar system is created by the Sun, where the outer layer of the atom is
"stripped" to the 127th octave (at a temperature of approximately 6,300,000 0K).

A time step in the 127th octave is called a second.

With respect to the clock cycle of 1 second, all metabolic processes, the operation of all Earth
Control Systems, automatic Control Systems, all communication systems both on Earth and external

(with satellites of planets) are synchronized.

The 128th octave is a charge, and the charge potential is always 100% (limits from 0 to 124), the
63rd octave is a magnetic pulse, or gravitational potential, should always be 100% (limits from -123.999

to 123.999).

Violations in the time system (according to (an armature’s scientific opinion).
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and any meteorite that hits the Sun forms a proton medium, which is perceived on Earth (after
the Sun turns) as a black spot, that is, an area with a temperature several times lower. Any such spot
changes the general potential of the 128th octave and the normal conditions of the clock cycle are
disrupted throughout the Solar System, while communication distortions, metabolic disturbances and
other surprises occur. An atomic block stripped to the 128th octave is plasma. The introduction of any
material structure "envelops" a section of plasma with a dodecahedral structure, i.e. focal
materialization of plasma occurs with a sharp decrease in temperature.

The difference in optical perception forms the color that passes through a series of grids and is
always perceived as black.

Science, of course, attributes these spots to the internal problems of the Sun, due only to the
reactions of helium and hydrogen. A meteorite can fall anywhere but, on the moon (no meteorites have
fallen there during its entire existence). They could simply break through the surface of the Moon, and
the development of civilized humanity would be stopped. In addition, all women's cycles depend on the
Moon, many metabolic processes on Earth too.

But these are not significant distortions, Swiss watches will lag a maximum of 2-3 hours a day,
but the time itself will remain.
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Recall:
— Earth has 8,640,000 tires (meridians at a depth of 1,000 — 2,100 m).
— Earth has geopathic zones (there is an approximate map).

— Earth has Curie, Hartman, and X-ray nodes as the connection of tires with the lattice of the
atmosphere.



Earth code = 512 (this is the octave of the atomic structure of the Earth).

In order for 127th octaves to work, it is necessary to have a minimum potential value of 128
octaves of 21%. If this value is lower, then there will be no magnetic pulse, the clock cycle disappears.
Theoretically, time will go in the opposite direction, but physically this will not happen, up to -123.999
we have a straight line on which data (and structures) of any antiquity are preserved. Pyramids
controlled by objects (UFQOs) are installed at all possible locations of the 512th octave plasma release.
However, pyramids cannot be placed at all ejection points, and this leads to various effects —
annihilation, superposition, normalization of the charge of 128 octaves.

If the charge vectors are opposite, the potential of the 128th octave drops (maybe to 0). We get
a dead zone, in which the biostructure can exist for any length of time. If the charge vectors coincide,
the time step decreases, and upon reaching 123.999%, 1 second of real time turns into hundreds of
years (instant aging, the Tajik version, when a 3-year-old child looked like a decrepit old man). During
normalization, zeroing occurs simultaneously and the brain receives information about all previous
events.

Why and how do these processes occur?

As indicated, the Earth has octaves from 8 to 512, and any of them can be gravitational. But all
constructions are based on the dodecahedral-icosahedral structure, the tetrahedron and the cube are
used only to control the structure. The time clock is set by the structure that provides the maximum
working octave. Today it is the 96th octave. By the way, this is also plasma. The conflict situation arose
because the clock generated by the Sun is built on a cubic-tetrahedral structure that is incompatible in
meaning with the basic structure of the Cosmos. According to the level of actions, the 96th octave is
lower than the 128th, therefore any change that occurs in the series of octaves 8 - 96 affects the series
of octaves 16 - 128 and changes not only the connection, but also all exchange processes. From 2009-
03-12, all clock cycles in the Solar System will depend on 96 octaves. Let's consider various options for
the interactions of incompatible clock cycles and the features of their existence.

Let's introduce the notation.

The atomic block has conditional structures (other structures can be omitted here):
Dodecahedral-icosahedral structure — DIS.

Cubic-tetrahedral structure — CTS.

Annihilation of clock cycle 128.

At the 128th octave, the vectors (magnetic pulse movement) are directed towards each other.
There are 3 possible annihilation options:

— The vector potentials are the same. An explosion occurs and the magnetic pulses disappear.
The explosion destroys the entire Christmas tree structure.

— The CTS vector potential > the DIS vector potential, but the sum is < 21%. The clock cycle
disappears without annihilation, the Christmas tree disappears without a trace, i.e., the control shows
that everything is normal.



— The CTS vector potential < the DIS vector potential. The entire system is preserved and comes
under the control of the 96th octave.

Superposition of the clock 128.

At the 128th octave, the vectors (movement of the magnetic pulse) are directed in one
direction.

There are 6 possible options:

—sum < 123.999GP (gravitational potential). The clock cycle is shortened, and when the upper
limit is reached, 1 second turns into 12 seconds, or all metabolic processes accelerate 12 times, aging
accelerates.

—sum >= 123.999GR. Complete destruction of the clock and the Christmas tree structure.

—sum = 100%GP, but the potential of the CTS > the potential of the DIS, CTS >=51%. All
information on the structure of the CTS disappears.

—sum = 100%GP, but the potential of the CTS < potential DIS, DIS >= 51%. All information on the
structure of the CTS disappears and information on the DIS is restored.

—sum = 88%GP, but CTS potential > DIS potential, CTS >= 44.1%. A paging signal is sent, and the
CTS potential decreases, as the paging goes over the DISTANCE.

—sum = 88%GP, but the potential of the CTS < potential DIS, DIS >= 44.1%.

Smooth transition to the DIS. Clock rate normalization 128.
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Thus, a smooth replacement translates the entire grid of the Earth to the clock cycle of the 96th
octave with the restoration of all memory and the destruction of all negativity, including all types of
landfills.

Let's consider some basics — the structure of the lattice of the noosphere.
The noosphere ranges from h =-2,200 m to 12,400 m.

All Control Systems have a control range from 12 to 512 octaves (512 octave value =
(13407807929942597099574024998205846127479365820592393377723561443721764030073546976
801874298166903427690031858186486050853753882811946569946433649006084096).




The control system does not work with octaves, but with their derivatives, based on adjacent
primes.

Example. Octave 4 = 16. Nearest prime number = 17, adjacent = 19.
A= (17 +19) = 36. 36 = 2*¥2*3*3,

The basis of the noosphere structure is penta, therefore there must be 5 in the decomposition.
The number 2 must not be less than the octave value. This is the basis of quartz, which is used to
calculate the pyramids. The decomposition should contain only 2 and 5, but there should not be 3, the
remainder of the decomposition should be a prime number that also has an adjacent one. After
performing the same operations, we get the secondary contour of the pyramid. This is how a mantissa,
or a specific frequency, is formed, operating in the structure of the upper accompaniment (each
operating frequency of any mantissa must have 33 accompaniment frequencies). By the way, Pushkin
gave the first description of the structure of the noosphere (three cards with a lady, 33 heroes, and so
on). Thus, pyramids are quartz oscillators that produce strictly defined frequencies. Pyramids with fixed
and floating geometries are known. The first pyramids with floating geometry were discovered on the
Moon. On Earth, only 4 Complexes have pyramids with floating geometry. Their main purpose is similar
to a car thief's scanner - linking a new frequency structure to existing ones.

The quartz movement relative to the base is 2, the connection with the penta is 5. Since there
are cubes in the lattice structure, 3 is used to maintain them, but there is no quartz movement of 3,
because the frequencies for the cubes are rigidly tied to the pyramids and in case of any accident, the
mantissa built on 3, disappears. The binding of structures based on mantissa in 3 is performed only
along the outer contour of the atomic block.

So, the first rule for the phantom.

None of the biostructure mantissas should contain 3 in decomposition. However, all genotypes
created after year 0 have exactly 3 in the decomposition of the brain mantissa, because the basic
element of control is a cube (in decomposition — the star of David). These are genotypes 4xx, where 421
are representatives of Asia Minor. These biostructures are not subject to storage, and reincarnation has
been removed since 2000.

The base of the noosphere.

The material base of the noosphere is the upper limit of the octave, for old complexes it is
octave 64 = 18446744073709551616. Why do the guests use this octave? First, the 8*8 square is chess,
where the number of solutions to the knight's circumvention problem is commensurate with the age of
the universe (they believe that there was a Big Bang). Secondly, in the cube 8*8*8 It is possible to build
up to 36 mantissas for octaves 24 — 52, using 3 in decomposition. Since before Easter 2008 the base —
material base was octave 64, all the capacities were used to maintain the structures of this base. This is
the octave range 15 — 63 (gravitational octaves — GP).

However, the Earth and the planets were created long before the arrival of the guests, and the
base was octave 512 (can be compared with 128 in terms of capabilities). However, everything that was
above the 128th octave was transferred to a static state without correction capabilities. This has led to
serious negative phenomena and processes that have been accumulating for more than 18,500 years.
These are the accumulation of the Earth's mass, the growth of gravitational frequency potentials in
near-Earth space, failures in the communication tubes with planetary satellites, changes in gravitational



frequencies for fixing the Earth's water balance, changes in the structure of the noosphere as a habitat
for biostructures, and so on. Since the noosphere is changing, biostructures should also change in a
certain way, but this does not happen (the pyramids of the guests are fixed relative to a parameter that
does not relate to quartz formation). Hence the waves of all kinds of diseases — plague, flu, meningitis,
fevers and so on.

The main part of the octaves (more than 99%) that were used in the construction of the Earth
were not used before Easter 2008, and the crisis (collapse) began immediately after Easter.

The second rule for the phantom.

Only those instructors who are based on frequencies of at least 224 octaves are subject to
preservation. All “golden billion” biostructures created after year 0 are based on a maximum frequency
of 128 octaves.

Gravitational frequencies (brief reference).

There are no gravitons. Gravity is a property of electric charge. In general, the charge has a
central part and a jacket (contour). The charge moves between the nodes of the icosahedron, having a
sliding angle and potential.

In the structure of the icosahedron, a shirt is not needed, the vector of the structure is directed
towards the center of the charge and the charge itself is exposed to external forces. To ensure a stable
state of charge, each icosahedron is “framed” by two dodecahedra.

Dodecahedra are stabilizing structures. The charge cannot exist alone.

Note: the edges of the outer dodecahedron and the inscribed icosahedron are equal, and the
edge of the inner dodecahedron is smaller by the square of the golden section. The effect of the edge
difference creates the foundations of gravity. The edges of the dodecahedron have a phantom charge,
that is, the same charge, but with a different quartz formation (2 each). This phantom has a reverse sign
and is framed by a shirt to ensure that the phantom is not scattered. We have described the static state.
Dynamic state of charge — see “Charge Dynamics".

We have a table:

N Number Number Charge Sliding Clock Number
of edges of nodes Potential | Angle cycle of Charges

1 | Outer 30 20 2 39.6 -64 Up to 30
dodecahedron

2 | Inscribed 30 12 210711 31.4 1 Up to 30
icosahedron

3 | Inner 30 20 221222 21.2 +64 Up to 30
dodecahedron




In total, we have 22 contours, each next inscribed triple contour has a different quartz
frequency, therefore the outer dodecahedron of the next inscribed contour has the characteristics of
the previous outer contour with a different quartz frequency.

There is an increase in the pseudo-octave, and therefore if we take the outer contour as 1, then
the 22nd contour corresponds to 221.

Gravitational frequencies can be obtained in any circuit, but the base circuit has them
constantly.

Rule three for the phantom.

The phantom in the chrono-capsule may also have material structures (63 octaves) in its
composition, but at the same time the autonomous energy center providing it must be in part of the
atomic block of the 22nd level of attachment. These are only those biostructures of the Earth that were
created before the introduction of the “golden billion", where the energy structure is the outer contour
of the atomic block.

As a result, the known 20 amino acids are structures built on the outer contour of the atomic
block.

Rule four for the phantom.

Any structure that has all 64 DNA codons in the cell structure can be stored for billions of
years.






